Appendix 7: 1995–96 results

The following tables summarise the results of the 1995–96 report on expenditures on health services for Aboriginal and Torres Strait Islander people. Per person estimates have been adjusted to reflect revised population estimates for 1995–96. These revised estimates record 381,402 Aboriginal and Torres Strait Islander people. The 1995–96 report used an estimate of 367,808 Aboriginal and Torres Strait Islander people.

Table A7.1: New South Wales Government health expenditure by program for Indigenous and non-Indigenous people, 1995–96

	Indigen	ous	Tota	ıl	Indigenous —	Expenditure per	person	Ratio
Area of expenditure	Expenditure \$m	Composition %	Expenditure \$m	Composition %	share %	Indigenous \$	Other \$	Indigenous/ other
Acute-care institutions	109.5	78.2	3,968.7	77.3	2.8	1,008	633	1.59
admitted patient services	91.8	65.6	3,368.0	65.6	2.7	845	537	1.57
non-admitted patient services	17.6	12.6	600.8	11.7	2.9	162	96	1.70
Mental health institutions	2.1	1.5	152.5	3.0	1.4	19	25	0.78
Nursing homes	1.7	1.2	85.7	1.7	2.0	16	14	1.13
Community health services	18.2	13.0	553.1	10.8	3.3	168	88	1.92
Patient transport	3.6	2.6	170.8	3.3	2.1	34	27	1.22
Public health services	1.5	1.1	56.9	1.1	2.7	14	9	1.56
Administration & research	3.4	2.4	149.2	2.9	2.2	31	24	1.29
Total	140.0	100.0	5,136.9	100.0	2.7	1,289	820	1.57

Table A7.2: Victorian Government health expenditure by program for Indigenous and non-Indigenous people, 1995–96

	Indigen	ous	Tota	I	Indigenous —	Expenditure per	person	Ratio
Area of expenditure	Expenditure \$m	Composition %	Expenditure \$m	Composition %	share %	Indigenous \$	Other \$	Indigenous/ other
Acute-care institutions	24.8	83.9	2,534.8	74.5	1.0	1,110	553	2.01
admitted patient services	18.0	60.8	1,901.1	55.9	0.9	805	415	1.94
non-admitted patient services	6.4	21.8	633.7	18.6	1.0	288	138	2.08
Mental health institutions	0.0	0.0	82.0	2.4	0.0	0	18	0.00
Nursing homes	1.5	5.2	197.4	5.8	0.8	69	43	1.61
Community health services	0.7	2.3	200.5	5.9	0.3	31	44	0.70
Patient transport	1.1	3.7	116.1	3.4	1.0	50	25	1.95
Public health services	1.0	3.5	150.9	4.4	0.7	46	33	1.39
Administration & research	0.8	2.6	119.7	3.5	0.7	35	26	1.34
Total	29.6	100.0	3,401.4	100.0	0.9	1,324	743	1.78

Table A7.3: Queensland Government health expenditure by program for Indigenous and non-Indigenous people, 1995–96

	Indigen	ous	Tota	ı	Indigenous —	Expenditure per	person	Ratio
Area of expenditure	Expenditure \$m	Composition %	Expenditure \$m	Composition %	share %	Indigenous \$	Other \$	Indigenous/ other
Acute-care institutions	111.3	73.8	1,849.5	75.7	6.0	1,075	537	2.00
admitted patient services	83.1	55.1	1,442.6	59.1	5.8	803	420	1.91
non-admitted patient services	28.1	18.7	406.9	16.7	6.9	272	117	2.32
Mental health institutions	2.9	1.9	81.6	3.3	3.6	28	24	1.16
Nursing homes	4.1	2.7	82.8	3.4	4.9	39	24	1.62
Community health services	24.1	16.0	265.7	10.9	9.1	233	75	3.12
Patient transport	4.4	2.9	74.0	3.0	6.0	43	22	1.99
Public health services	2.2	1.5	52.6	2.2	4.3	22	16	1.39
Administration & research	1.7	1.1	35.8	1.5	4.7	16	11	1.54
Total	150.8	100.0	2,441.9	100.0	6.2	1,456	708	2.06

Table A7.4: Western Australia Government health expenditure by program for Indigenous and non-Indigenous people, 1995–96

	Indigen	ous	Tota	ıl	Indigenous —	Expenditure per	person	Ratio
Area of expenditure	Expenditure \$m	Composition %	Expenditure \$m	Composition %	share %	Indigenous \$	Other \$	Indigenous/ other
Acute-care institutions	79.5	69.1	1,094.9	73.8	7.3	1,430	594	2.41
admitted patient services	61.4	53.3	859.4	57.9	7.1	1,104	467	2.36
non-admitted patient services	18.1	15.8	235.5	15.9	7.7	326	127	2.57
Mental health institutions	3.2	2.8	80.0	5.4	4.0	58	45	1.29
Nursing homes	3.1	2.7	64.5	4.3	4.8	55	36	1.54
Community health services	23.0	20.0	154.8	10.4	14.9	414	77	5.37
Patient transport	4.2	3.6	31.7	2.1	13.1	75	16	4.64
Public health services	1.1	1.0	39.9	2.7	2.8	20	23	0.88
Administration & research	1.0	0.9	18.2	1.2	5.5	18	10	1.80
Total	115.1	100.0	1,483.9	100.0	7.8	2,070	801	2.59

Table A7.5: South Australian Government health expenditure by program for Indigenous and non-Indigenous people, 1995–96

	Indigen	ous	Tota	I	Indigenous —	Expenditure per	person	Ratio
Area of expenditure	Expenditure \$m	Composition %	Expenditure \$m	Composition %	share %	Indigenous \$	Indigenous Other \$	Indigenous/ other
Acute-care institutions	20.3	64.3	863.7	70.1	2.3	930	581	1.60
admitted patient services	16.0	50.7	691.0	56.1	2.3	734	465	1.58
non-admitted patient services	4.3	13.6	172.7	14.0	2.5	197	116	1.70
Mental health institutions	1.2	3.7	81.0	6.6	1.4	53	55	0.97
Nursing homes	0.0	0.0	0.0	0.0	0.0	0	0	0.00
Community health services	6.3	20.1	173.6	14.1	3.6	290	115	2.52
Patient transport	0.3	1.0	13.1	1.1	2.4	15	9	1.64
Public health services	0.7	2.4	43.6	3.5	1.7	34	30	1.16
Administration & research	2.7	8.6	56.8	4.6	4.8	124	37	3.34
Total	31.5	100.0	1,231.8	100.0	2.6	1,447	827	1.75

Table A7.6: Tasmanian Government health expenditure by program for Indigenous and non-Indigenous people, 1995–96

	Indigen	ous	Tota	I	Indigenous —	Expenditure per	person	Ratio
Area of expenditure	Expenditure \$m	Composition %	Expenditure \$m	Composition %	share %	Indigenous \$	Other \$	Indigenous/ other
Acute-care institutions	12.6	70.7	244.9	64.5	5.1	829	506	1.64
admitted patient services	7.6	42.7	178.8	47.1	4.2	501	373	1.34
non-admitted patient services	5.0	28.0	66.1	17.4	7.5	328	133	2.46
Mental health institutions	0.9	4.8	32.6	8.6	2.6	56	69	0.82
Nursing homes	1.4	8.0	38.9	10.2	3.6	93	82	1.14
Community health services	1.4	7.8	20.7	5.4	6.7	91	42	2.17
Patient transport	0.5	2.7	10.7	2.8	4.4	31	22	1.40
Public health services	0.8	4.3	24.1	6.4	3.1	50	51	0.98
Administration & research	0.3	1.8	8.0	2.1	3.9	21	17	1.24
Total	17.8	100.0	379.9	100.0	4.7	1,172	789	1.49

Table A7.7: Australian Capital Territory Government health expenditure by program for Indigenous and non-Indigenous people, 1995–96

	Indigen	ous	Tota	I	Indigenous —	Expenditure per	person	Ratio
Area of expenditure	Expenditure \$m	Composition %	Expenditure \$m	Composition %	share %	Indigenous \$	Other \$	Indigenous/ other
Acute-care institutions	1.5	76.9	221.0	83.2	0.7	505	720	0.70
admitted patient services	1.1	56.3	163.1	61.5	0.7	370	531	0.70
non-admitted patient services	0.4	20.6	57.8	21.8	0.7	135	188	0.72
Mental health institutions	_	_	_	_	_	_	_	_
Nursing homes	_	_	_	_	_	_	_	_
Community health services	0.2	11.9	12.7	4.8	1.8	78	41	1.90
Patient transport	0.0	0.0	4.7	1.8	0.0	0	16	0.00
Public health services	0.0	0.3	2.5	0.9	0.2	2	8	0.21
Administration & research	0.2	11.0	24.5	9.2	0.9	72	80	0.90
Total	2.0	100.0	265.5	100.0	0.7	657	864	0.76

Table A7.8: Northern Territory Government health expenditure by program for Indigenous and non-Indigenous people, 1995–96

	Indigen	ous	Tota	ıl	Indigenous —	Expenditure per	person	Ratio
Area of expenditure	Expenditure \$m	Composition %	Expenditure \$m	Composition %	share %	Indigenous \$	Other \$	Indigenous/ other
Acute-care institutions	78.9	49.9	148.0	52.1	53.3	1,537	526	2.92
admitted patient services	60.7	38.4	115.5	40.6	52.6	1,182	417	2.83
non-admitted patient services	18.2	11.5	32.5	11.4	56.0	355	109	3.25
Mental health institutions	_	_	_	_	_	_	_	_
Nursing homes	0.2	0.1	0.4	0.2	41.0	3	2	1.78
Community health services	32.8	20.8	52.2	18.4	62.9	639	147	4.34
Patient transport	15.5	9.8	22.1	7.8	70.2	302	50	6.03
Public health services	13.4	8.4	24.6	8.7	54.3	260	86	3.04
Administration & research	17.3	11.0	36.8	13.0	47.1	337	149	2.27
Total	158.1	100.0	284.1	100.0	55.7	3,079	960	3.21

Table A7.9: Total Australian Government health expenditure by program for Indigenous and non-Indigenous people, 1995–96

	Indigen	ous	Tota	I	Indigenous —	Expenditure per	person	Ratio
Area of expenditure	Expenditure \$m	Composition %	Expenditure \$m	Composition %	share %	Indigenous \$	Other \$	Indigenous/ other
Acute-care institutions	437.9	67.9	10,925.5	74.7	4.0	1,148	585	1.96
admitted patient services	339.7	52.7	8,719.4	59.6	3.9	891	467	1.91
non-admitted patient services	98.2	15.2	2,206.1	15.1	4.5	258	118	2.19
Mental health institutions	10.2	1.6	509.7	3.5	2.0	27	28	0.96
Nursing homes	12.0	1.9	469.7	3.2	2.6	31	26	1.23
Community health services	106.9	16.6	1,433.2	9.8	7.5	280	74	3.79
Patient transport	29.6	4.6	443.2	3.0	6.7	78	23	3.37
Public health services	20.8	3.2	395.2	2.7	5.3	54	21	2.61
Administration & research	27.4	4.2	449.1	3.1	6.1	72	24	3.05
Total	644.9	100.0	14,625.4	100.0	4.4	1,691	780	2.17

Table A7.10: Gross expenditures on services to Aboriginal and Torres Strait Islander people by State/Territory and Commonwealth Governments, total and per person, revised populations, 1995–96

		Total (\$m)			Per person (\$)					
		Commonwealth			Commonwealth					
State/Territory	State ^(a)	AMS	Other	Total	State ^(a)	AMS	Other	Total		
New South Wales	140	15	24	179	1,289	138	221	1,648		
Victoria	30	7	5	42	1,324	313	224	1,861		
Queensland	151	15	22	188	1,456	145	212	1,813		
Western Australia	115	20	12	147	2,070	360	216	2,645		
South Australia	32	10	5	47	1,447	459	229	2,135		
Tasmania	18	2	3	23	1,172	132	198	1,502		
Australian Capital Territory	2		1	3	657		332	989		
Northern Territory	158	21	11	190	3,079	409	214	3,703		
Australia	645	90	83	818	1,691	236	218	2,144		

⁽a) Excludes local government.

Table A7.11: Estimated government and private expenditures for and by Indigenous and non-Indigenous people, total and per person, revised populations, 1995–96

		Indi	genous			Non-Inc	digenous		
	Govt	Private	Total	Per person	Govt	Private	Total	Per person	Ratio Indigenous/
Source	\$m	\$m	\$m	\$	\$m	\$m	\$m	\$	Other
Subsidised services									
Public hospitals									
admitted patient services	340	4	344	902	8,222	948	9,170	512	1.76
non-admitted patient services	98		98	257	2,129		2,129	119	2.16
Mental institutions	10		10	26	399		399	22	1.18
Nursing homes	16	4	20	52	2,065	672	2,737	153	0.34
Community health	199		199	522	1,438	5	1,443	80	6.48
Patient transport	35	1	36	94	295	264	559	31	3.03
Public health	26		26	68	489		489	27	2.50
Medicare and other medical	32	2	34	89	6,523	1,374	7,897	441	0.20
PBS drugs & appliances	10	3	13	34	2,366	483	2,849	159	0.21
Administration & research	43	1	44	115	1,295	620	1,915	107	1.08
Other services									
Private hospitals		5	5	13	258	2,858	3,116	174	0.08
Dental & other professional	1	11	12	31	296	3,108	3,404	190	0.17
Non-prescribed medicines		12	12	31		2,440	2,440	136	0.23
Total	810	43	853	2,236	25,775	12,772	38,547	2,150	1.04